HENESEREEES ™R
SH3FE108148H (K)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 228 T 1,203.3 221 51
<IN 121.0 60 20
£S5 43.1 1,679 769
AABHLA 151.9 850 200
JUH LA 576.0 1,330 101
LSHLA 434.7 450 20
TFELSHLA 257.1 1,200 189
=EAHLA 726.8 393 20
IALA 605.5 701 300
RaAHLA 36.1 800 209
HSRALA 157.0 83 26
Lo 42.3 72 20
%55 432.6 289 20
FAALY 119.7 1,292 139
<5 125.0 805 369
FHA 139.8 271 50
TIAYTAFA 340.3 119 20
TVAYTAF A 55.0 1,021 600 [gim o
F7>0 3,169.4 379 50
NIHZS 449.9 30 20
HZA) UL 38.0 1,080 450
FAF X 31.3 1,500 329

I 9,255.8




[f¥fa] (BT ¢ kg )
TRETRAE =V H =2 = 1B Z & M =
SHEE 22 TS HSH 35.0 164 39
THLY 74.9 4,250 169
FHAVEE 135.0 27,789 2,200 ff  30c/s
i : c/s
JAESHAN 21.2 88 20
< ks A 55.1 269 20
AL A 81.6 239 20
AP 1,117.1 864 20
5= 40.5 4,300 200
R—Y 24— 16C/S
=58 72.0 16,000 2,339 i
TYRSERE 83.7 488 89
254 hTEINA 80.5 619 519
ZILAA ST 448.8 439 181
ZILAA F5E 620.0 4,880 1,311 ﬁ L24c/s
1 c/s
UL S 1,137.4 460 90
A 58 590.0 2,400 1,089 ﬁ L18c/s
1 c/s
=247 433.3 860 289
F£4 T 3,785.3 580 33
S = a 103.1 1,660 1,559
sHE 17,925.4




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &
BEERXFE 538 B> X 150.1 1,580 589
_~ 42.1 330 20
>O0F 22.5 329 20
N 20.4 711 50
=>0OX/)VUl 254.1 1,629 1,059
JdEHAN 59.2 121 20
TRORD 79.9 1,389 20
< ~OAA 24.9 289 20
HY= 185.1 1,001 200
BTl 3% Ry FHA 714.4 433 220
2D 408 JU 25.1 265 20
aité= 1,577.8




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &

SHEE 22%

EEXRIFE 538 |E5X 658.6 2,700 600

AERE 112 NSO 312.3 4,500 1,500

#]D 40 E=5X 521.8 3,300 1,000

T2

1,492.7




